BEE{

HET S0
[T1] BRERBER (T T RE) [S1] RERZE
[T2] BRBERCIRITERE) [S2] HLEBEAL TR
(T3] R{RSANCT S EBLE) [S3] BhLEREEE
[T4] SRRSERCZERER) [S4] #h8 - KEESRHEMECET4C
[T5] REE
[T6] ffr AT [S6] Rl R AeThRE (MBEHE) ZHETLX

[T7] it & ALCREARRRRLRER) [87] EAMEHIRL

[S5] {EMA. ~ PIEMAFESERBEMFERCBETHRRETRL

1044 ZETH 2 FE/ ) [—HREEREER] i EHFERHEEE —RR

Page 1 of 1

[ ZfETERE - 13) [2RB AR

301]
2 -
2 N E:
T BERRELTBEREERE x| |
A8 ;| KR
B 2l |&
5 B | BB 0 1) | o
gugiee e & | |&®E| &
JE E'd B
0 #|E|E|e| LB
AL D 7N B8 B e
T1 T2T3T4T5T6T7§ S1|S2153|S4|S5|S6 S'a?_ﬁzLf it | =5 %=
§ =4
1 0jo0}o 0 1 0 618960018960 0 0 0 0 | 98,560
213 0j0{o0 1101311 110 89,60018960) 0 | O 0J0]| O | 98,560
;r 6lojojojojojoiei111141213}1}01(12}179,200 17,920 oOjojojojyojoj 0 (197,120
EIPA - EE: - R AR
b : b &/

itk A iR

e T2

|




Page 1 of 1

1045 ZErgThH TICEBFE/N B2H(TRE) [—BREEHE) THRMAE —HER [2REIHRE - 13] [2&KF

A=4E% - 301])
AHIRESRT B —ER
FTH | EREERE | SRS |53 | 5558 | K24 R | BEAE 5
AR B e | himm | mom |2 | & | cEe| 2 | wees | D
BEYTIRETELE 76,800] 7,680 0 0 olo 0 0 0 84,480
HESTH
(AT B E R 73,600] 7,360 0 0 0]o 0 0 0 80,960
AHE N BB —ER - BT 20
S LA 12 28 38 48 58 /et 5w
BIRBHEI (R LR RE) 0 0 0 0 2 2 100.00%
HIRA IR RE) 0 0 0 0 0 0 0.00%
SEARBER(A S E ) 0 0 0 0 0 0 0.00%
ERHERGEEE) 0 0 0 0 0 0 0.00%
K4 0 0 0 0 0 0 0.00%
il 2T 0 0 0 0 0 0 0.00%
H#HE A B(EEE A0 0 0 0 0 0 0 0.00%
=118 0 0 0 0 2 2 100%
A FfE: e A B

ik A K

1



